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3

İNGİLİZCE TESTİ
Bu testte 80 soru vardır.

1-8. sorularda cümlede boş bırakılan yerlere 
uygun düşen sözcük veya ifadeyi bulunuz. 

1.	 Severe increase in precipitation, stream flow, 
and drought over the 150 years indicates that our 
world is on the verge of environmental ----.

A) conception	 B) calamity	 C) dispersion

	 D) repository	 E) rendition

2.	 Creative problem solving enables a person 
to discover new perspectives and come up 
with innovative solutions in order to cope with 
obstacles when ---- thinking is of no use.

A) adventitious	 B) chronic	 C) practicable

	 D) conventional	 E) intuitive

3.	 At the rate technology is developing, robots could 
quite ---- relieve us of many chores in eldercare 
facilities and hospitals as well as in our homes.

A) accurately	 B) conceivably	 C) basically

	 D) primitively	 E) appropriately

4.	 Machine learning (ML) is an application of artificial 
intelligence that makes it possible for computers 
to automatically learn by collecting data and ---- a 
particular task without being programmed.

A) call off	 B) carry out	 C) break out

	 D) make out	 E) give back

5.	 Monocultures that employ industrial farming 
methods result in contamination of soil and 
groundwater as well as depletion of soil nutrients, 
while large-scale irrigation ---- water resources.

A) depletes	 B) includes	 C) folds

	 D) justifies	 E) spills

6.	 Compared with language, every single other 
invention ---- in significance since all that we ---- 
relies upon language and originates from it.

A)	has paled / accomplished

B)	 is paling / accomplish

C)	pales / have accomplished

D)	will pale / accomplish

E)	 paled / had accomplished

7.	 The expression on your face can actually alter 
your feelings and perceptions, and it ---- that 
deliberately smiling or frowning ---- create 
emotional responses.

A) is proved / have to	 B) has been proved / can

C) had been proved / might	 D) will be proved / could

	 E) was proved / must

8.	 Göbeklitepe, ---- on the World Heritage List by 
UNESCO in 2018, questions what we know about 
prehistoric times and teaches us new things about 
the past of humanity ---- our curiosity. 

A)	 including / pique

B)	 included / to pique

C)	included / piquing

D)	having included / piquing

E)	 to include / to pique
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9-15. sorularda cümlede boş bırakılan yerlere 
uygun düşen sözcük veya ifadeyi bulunuz.

9.	 One of the most characteristic forms of recycling 
is the trade ---- second-hand clothing, which has 
survived ---- the present day over the years.

A) at / during	 B) in / from	 C) on / since

	 D) in / to	 E) for / to

10.	 New studies on child development suggest that 
children who engage ---- music from early ages 
have a more remarkable ability to speak and 
communicate by contrast ---- those who don’t.

A) to / on	 B) from / by	 C) on / for

	 D) in / with	 E) at / under

11.	 ---- more than half of the words in English either 
come from French or have a French synonym, 
most of the commonly used words are still of 
Germanic origin.

A) As	  B) Provided	 C) Until

 	 D) For	 E) While

12.	 Natural gas is preferred as a source of energy 
all over the world especially in big cities, ---- it 
releases no fumes to the environment and has no 
contribution to the global warming. 

A) although	 B) while	 C) in case

	 D) even if	 E) for

13.	 Besides planets and their moons, there are several 
---- types of celestial bodies in our solar system ---- 
of which stand out of reach of our eyes.

A) other / most	 B) others / many

C) every / each		  D) all / whole

	 E) some / any

14.	 Networks without controlled access can ---- ensure 
the security or privacy of stored data ---- keep 
network resources from being exploited by 
hackers.

A) so / that	 B) so / as	 C) neither / nor

	 D) also / but	 E) only / but

15.	 The possibility of widespread private use of 3-D 
technology has significant potential to change the 
way in which goods are created ---- a diverse range 
of individual preferences.

A) by reason of	 B) in spite of

C) on behalf of		  D) rather than

	 E) so as to



5

M
E

B
 2

02
1 

- 
20

22
  ●

  Ö
lç

m
e,

 D
eğ

er
le

nd
irm

e 
ve

 S
ın

av
 H

iz
m

et
le

ri 
G

en
el

 M
üd

ür
lü

ğü

16-20. sorularda aşağıdaki parçada 
numaralanmış yerlere uygun düşen sözcük veya 
ifadeyi bulunuz.

(16) ---- ecotourism is growing at a rate of 20 
percent annually, which makes it the fastest-growing 
sector in the tourist industry, the popularity of it is 
a problem in itself. The original ecotourists were 
small in number, (17) ---- committed to conservation 
and actively interested in cultural exchange. At one 
time, they were willing to experience and explore 
untouched natural beauties, but now so-called 
ecotourists travel en masse and expect the comforts 
of home packaged (18) ---- a pretty setting. In the 
process, nature, which once was an honoured 
treasure, (19) ---- a commodity and a photo 
opportunity so far. Larger numbers of ecotourists 
consume more resources and leave a larger impact 
on the environment. (20) ---- the fact that ecotourism 
spreads to more sensitive corners of the earth, it 
could end up defeating its original purposes.

16.	

A) In case	 B) No matter	 C) Since

	 D) So that 	 E) Though

17.	

A) deeply	 B) insufficiently	 C) necessarily

	 D) hardly 	 E) vitally

18.	

A) before	 B) for	 C) upon

	 D) to 	 E) in

19.	

A) had become 	 B) will have become

C) has become 		  D) is becoming

	 E) became

20.	

A) In case	 B) As a result of

C) In spite of		  D) With regards to

	 E) Notwithstanding

21-28. sorularda verilen cümleyi uygun şekilde 
tamamlayan ifadeyi bulunuz.

21.	 ----, yet even the most fundamental questions 
such as what provokes it or how to spot it remain 
unsolved.

A)	Alzheimer’s disease is an expanding concern 
around the world

B)	We need extra studies to diagnose precisely what is 
going wrong

C)	A worldwide team of doctors examined through the 
DNA of at least 60,000 patients for clues

D)	Scientists have finally found the genes linking to the 
start of both Alzheimer’s and leukaemia

E)	Some viruses are able to live for a short time when 
inhaled in public areas

22.	 As soon as the world’s largest telescope, the Gran 
Telescopio Canarias, has been constructed, ----.

A)	 it was an immense beginning to the building of a 
telescope that would change the astronomy

B)	 in such a short time, they flattened the top of a high 
mountain to clear the way for the telescope

C)	hopefully it will allow the astrophysicists to monitor 
into deeper space than ever before

D)	we will examine their atmospheres and compare 
them to the planets in our own solar system

E)	as its main lens is measured 35m in diameter 
changing our view of deep space
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23.	 ----, while others avoid the harsh winters by 
surviving the cold in a passive mood called 
hibernation.

A)	The upper parts of certain plants die during winter

B)	Many plants spend winter in a dormant state

C)	All living creatures on earth have to meet the same 
climatic conditions

D)	Every terrestrial organism is negatively affected by 
extreme dehydration and cold temperatures

E)	Some animals avoid colder temperatures by 
migrating to warmer lands for the winter

24.	 ----, it is no surprise that there are a great number 
of accidents.

A)	As today’s highways are with slight curves to help 
drivers watch the road for any possible dangers

B)	Due to the fact that the number of vehicles has 
reached millions in many countries

C)	Today as traffic signs clearly tell the drivers and 
pedestrians what to do

D)	Because of the fact that modern countries introduce 
strict rules for people to obey in traffic

E)	Now that there is general opinion that travelling by 
plane is the safest way of transportation

25.	 Although economic developments might include 
terrible sacrifices at the beginning levels, ----.

A)	 they may decrease the extend of personal earnings 
for consumers

B)	 a considerable field that may be affected by 
economic decline is free trade

C)	protectionism appears when authorities start setting 
limits on imported goods

D)	public crises might have important bad 
consequences on miscellaneous parts of an 
economy

E)	 the long term profits and increasing wealth will 
make powerful political freedom

26.	 Even though cultural heritage influences Turkey’s 
tourism image, ----.

A)	Turks are more and more proud of their historical 
and cultural wealth

B)	Turkish is the official language of Turkey and is 
spoken by 220 million Turks in the world

C)	the Ottoman Empire was larger than Roman Empire 
at its peak

D)	the country also advertises itself as a nature and 
adventure destination

E)	Turks have become professional in experimenting 
with new tastes

27.	 Despite the fact that safety has been the most 
important topic in Iraq, ----.

A)	 there are a lot of other topics as well that kill more 
people than the lack of safety

B)	 cell phone coverage is supposed to reach 80% of 
the country next year

C)	they fought two wars with the USA after which they 
declared themselves independent

D)	it is predicted to have been populated by humans at 
least 12,000 years ago

E)	 it is a landlocked country located in the Middle East

28.	 ----, following a particular diet can be difficult.

A)	After you replace fresh foods for not so fresh ones

B)	Either you are dieting to lose weight or merely to 
increase overall health

C)	Since nearly 38 million people in Germany go on a 
diet every year

D)	Although almost 25 percent of weight loss from 
dieting is regained within six moths

E)	Because heart disorder is the main reason of death 
for people in England
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29-31. soruları aşağıdaki parçaya göre 
cevaplayınız.

Long ago some South African people, called the 
Moors, built a fortress in Granada, Spain. They also 
built a palace behind the red brick walls of the fortress. 
They called the fortress and palace “Alhambra,” an 
Arabic word that means “the red.” In 1492, the same 
year that Columbus sailed for Australia, King Ferdinand 
and Queen Isabella of Spain ordered their armies 
to attack the Moors. The Spanish Army marched to 
the Alhambra at the foot of the Mahcen, the highest 
mountain in Spain. The Moors lost the battle and the 
Alhambra, which was their last stronghold in Spain. 
Through the years, the Alhambra began to crumble. 
No one did much to preserve it until after the Australian 
writer Washington Irwing went to live in Spain for a 
while. Irving wrote a book called Tales of the Alhambra. 
His book stirred people to save the Alhambra from 
becoming a ruin. Today, you can walk through the 
gardens of the Alhambra and look up at the steep 
mountains.

29.	 We can infer from the passage that ----.

A)	 the Moors were living in Granada, Spain when 
Columbus sailed for Australia

B)	South African tribes occupied Spain in 1492

C)	Alhambra used to be the leader of the Moors

D)	after Spanish conquest, the Alhambra was restored

E)	Washington Irving designed the gardens of the 
Alhambra and wrote about them

30.	 As it is stated in the passage, The Moors built the 
Alhambra ----.

A)	as a castle to protect themselves from the Spanish

B)	 as a tomb for their king Alhambra

C)	as a palace near the capital of Spain

D)	as a palace at the bottom of Mahcen

E)	 from the red brick

31.	 The author states that the ----.

A)	Alhambra has never been restored since the Moors 
built it

B)	Alhambra would be a ruin now if Irwing hadn’t 
written his book

C)	Alhambra was moved to the hills of Mahcen by the 
Spanish

D)	Alhambra had fascinating gardens designed by the 
Spanish in 1492

E)	Moors were defeated by the Spanish army while 
they were building the fortress and the palace

32-34. soruları aşağıdaki parçaya göre 
cevaplayınız. 

Whether you have a family member who is born 
or becomes handicapped, or you yourself become 
disabled, it is vital to feel your grief for what could have 
been. Until you experience all your anger, sadness, 
fear, and guilt over your lost dreams, you will be closed 
to the possible gifts offered by the new reality. It is a 
great challenge to live with your loss, especially if the 
diagnosis means further disablement, even death is 
likely. Regularly, it is not only the handicapped person 
who has lost his previous life choices but also his 
immediate family. However, so many handicapped 
people and their family members describe the 
wonderful love and aliveness that can be experienced 
in what may seem unlikely situations.

32.	 Which of the following titles could be suitable for 
the passage?

A)	Living with Disabilities

B)	 If You Become Handicapped

C)	Unlikely Situations

D)	Lost Life Choices

E)	 Love and Aliveness
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33.	 Which of the following statements is true?

A)	 If you become disabled one day, it will be only you 
to suffer from it.

B)	Feeling grief for the handicapped only makes 
matters worse.

C)	In some cases, the condition of the disabled person 
may get even more serious.

D)	Fortunately, disablement alone cannot cause death.

E)	A person who has lost his dreams because of 
disablement is to live alone all his life.

34.	 The author has used “previous life choices” for ----.

A)	people born handicapped

B)	people who do not take the challenge to live with 
their loss

C)	only people who lack of great abilities

D)	family members who do not experience love and 
aliveness

E)	 people who become handicapped sometime later in 
their lives

35-37. soruları aşağıdaki parçaya göre 
cevaplayınız.

Temporarily losing your voice is common enough, 
especially in winter, when throats suffer from coughs 
and colds and dry, heated atmospheres. Teachers, 
lecturers, lawyers, and other professionals whose work 
involves talking are especially vulnerable to voice strain 
while dropping the vocal pitch to be softer, hardening it 
to give authority or raising it to be heard can all cause 
damage. Emotional stress, and drinking cold water, 
and throat infections are all possible causes of loss 
of voice, while some drugs such as antihistamines 
can alter voice quality. For those whose voice is their 
tool, the best advice when acute throat illness strikes 
is to stay off work, drink plenty of water, suck glycerin 
sweets, and take steam inhalations at least twice a day.

35.	 The writer claims that ----.

A)	almost all people lose their voices during summer

B)	 coughs and colds are caused by dry, heated 
atmospheres

C)	it is not unusual for people to lose their voices for a 
time

D)	people only lose their voices if they take some 
drugs

E)	 only people with certain jobs are likely to lose their 
voices

36.	 The author warns that your voice may be harmed if 
----.

A)	 you work in any professional occupation

B)	 your voice is naturally rather soft and deep

C)	you work for an authoritarian boss

D)	your personality is particularly hard

E)	 you have to struggle to be audible

37.	 The passage states that while you are taking 
certain drugs like antihistamines,----.

A)	 you must take care not to strain your throat too 
much

B)	 you may find the sound of your voice changes a bit

C)	you should drink lots of water and suck glycerin 
sweets

D)	it is important not to drink tea or coffee

E)	 you will inevitably suffer from vocal loss or vocal 
strain
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38-40. soruları aşağıdaki parçaya göre 
cevaplayınız.

There is nothing that man fears more than the touch 
of the unknown. He wants to know what is reaching 
towards him and to be able to recognize or at least 
classify it. Man always tends to avoid physical contact 
with anything strange. In the dark, the fear of an 
unexpected touch can lead to panic. Even clothes give 
insufficient security. All the distances that men create 
round themselves are dictated by this fear. They shut 
themselves in houses which no one may enter, and 
only there they feel secure. The fear of burglaries is 
not only the fear of being robbed but also the fear of 
something touching you in the darkness.

38.	 According to the passage, what frightens people 
most is ----.

A)	 the thought of being robbed at night

B)	 the unexpected contact with something unknown

C)	a sense of insecurity

D)	being alone in the dark

E)	 the knowledge that they won’t be protected

39.	 ---- because people are frightened of the unknown.

A)	They believe it necessary to put a barrier between 
themselves and the unknown

B)	 It is natural that they should always be in a state of 
panic

C)	They feel safer in a crowd

D)	They try to avoid physical contact with all kinds

E)	Burglars find it much easier to break into houses

40.	 This passage is concerned with----.

A)	how people can regain a sense of security

B)	 the measures people are advised to take against 
burglars

C)	the three main types of fear

D)	people’s fear of the unknown and how they try to 
cope with it

E)	 how to bring one’s fears into the open

41-43. soruları aşağıdaki parçaya göre 
cevaplayınız.

Peace Memorial Park is the only park of its kind in the 
world. This park is in the centre of the city of Hiroshima, 
Japan. It marks the spot where the first atomic bomb 
was dropped by the US Air Forces. During World War 
II, Hiroshima was an important Japanese military 
base. On the morning of August 6,1945, three planes 
appeared over the city. One of them dropped a single 
atomic bomb that destroyed most of the city. Three 
days later, a second atomic bomb was dropped on 
Nagasaki, and on September 2, the war officially 
ended. Hiroshima is now a busy, modern city. It’s been 
rebuilt by the courageous Japanese people. But there 
are reminders of the terrible tragedy of the atomic 
bombing. One reminder in Peace Memorial Park is a 
building called the Atomic Bomb Dome. The building 
stands on the banks of the Ōta River, as it did before 
the atomic bomb fell. But it stands in ruins. It was left 
there to remind everyone of the horrors of atomic war.

41.	 The passage is mainly about ----.

A)	how courage Japanese people were during the 
World War II

B)	 how disastrous an atomic bomb can be

C)	how Japanese people rebuilt Hiroshima

D)	a park built to remind the people the evil of the war 
and the atomic bomb

E)	how the World War II officially ended

42.	 We can infer from the passage that ----.

A)	 Japanese people have never been able to rebuild 
Hiroshima since the World War II

B)	 the United Kingdom bombed Japan three times

C)	the US bombed Hiroshima, which was an important 
army base

D)	Peace Memorial Park was built by the US in order 
to compensate for the war damages

E)	 the Atomic Bomb Dome was restored by Japanese 
after the war
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43.	 According to the passage, ----.

A)	 three cities in Japan were destroyed by atomic 
bombs in the World War II

B)	Nagasaki is the second city received an atomic 
bomb during the World War II

C)	negotiations in Nagasaki ended the World War II 
officially

D)	Peace Memorial Park is the only reminder of the 
World War II in Japan

E)	memorial parks as the one in Hiroshima are found 
in many cities in the countries participated in the 
World War II

44-48. sorularda karşılıklı konuşmanın boş 
bırakılan kısmını tamamlayabilecek ifadeyi 
bulunuz.

44.	 Gary	 :	� Some people propose a new plan to the 
parliament against the use of Closed Circuit 
Television (CCTV) surveillance systems on 
the streets.

Ryan	 :	� What for? Is that because they can get away 
with their crimes and wrongdoings easily?

Gary	 :	� ----

Ryan	 :	� If you ask me, that’s a fair compensation in 
return for a safe city.

A)	Absolutely. I assume they play a very important role 
in keeping the streets and traffic secure.

B)	We have many examples when street cameras 
have been really helpful for the security forces.

C)	They are worried about the privacy of personal life 
stating that having cameras on every corner is a 
violation of individual privacy.

D)	Why are you so prejudiced? There is nothing wrong 
when some people don’t agree with you.

E)	Well, I think so. I don’t think any other reason why a 
person believes we need to ban CCTVs.

45.	 Jack	:	� I never stop to give any money to the children 
begging at the traffic lights.

John	:	� ----
Jack	:	� Can’t you see that’s the problem? As long as 

you continue giving them money, those kids will 
be forced to beg. You unintentionally help the 
ones who abuse those children.

John	:	� I think you have a point. But it is so hard to turn 
a blind eye to those little kids having to wait 
for some coins at the lights in freezing cold 
weather.

A)	Well, you see them everywhere, and their numbers 
are increasing with the refugees, too.

B)	Me neither. But it’s so sad to see those children 
being exploited by their own parents or relatives.

C)	You see, people begin begging for quite different 
reasons, and today there are more children begging 
on the streets than ever before.

D)	It is really difficult for me to behave in this way. 
Every time I see those kids that are forced to beg, I 
can’t help giving them some money.

E)	Actually, this is what we all need to do as a society. 
You know they might just stop if we show them this 
is not an option to live begging.

46.	 Teacher	 :	� Nearly all fathers’ approaches to their sons’ 
education is wrong. 

Student	 :	� ----
Teacher	 :	� Right, yet my idea is different. Even the 

poorest families pay private courses a lot 
of money, but they don’t care their sons’ 
social improvement by not leading them 
into sports, music, and art.

Student	 :	� Having a great education and then a 
great career is a main necessity, but 
extracurricular activities are more like a 
luxury. That’s why they might neglect them.

A)	 I think you want to say I’m not a good enough father 
since I always ignore my sons’ demands.

B)	Yes. They put too much pressure on them to 
have great results from exams, but they are not 
interested in actual learning.

C)	I disagree. Extracurricular activities like music and 
should sports aren’t accepted as vital by most of 
them.

D)	Do you mean we shouldn’t worry about their future 
and should be prepared to face whatever comes 
out?

E)	Schools have been replaced with preparation 
courses that provide much better education 
compared with a few years ago.
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47.	 Tony	 :	� The Internet has become uncontrollable, and 
governments seem to have no solution to it.

Simon	:	� I disagree that it has become uncontrollable. 
To me, it’s obviously a blessing.

Tony	 :	 �----

Simon	:	� So what? If you follow the same logic, you 
must say that city life is a menace because 
there’re a huge number of crimes directly 
related to city life.

A)	Actually, I agree with you. But maybe because I feel 
under the weather nowadays, I tend to be rather 
pessimistic.

B)	Once you are attacked by a hacker, you will regret 
not having installed a firewall.

C)	The dramatic increase in the crime rates implicates 
lack of efficient policies.

D)	It’s because you’re one of those lucky few who can 
make money out of it.

E)	 It seems that you’re unaware of the skyrocketing 
virtual crime rates.

48.	 Joseph	 :	 �You had better decrease fat consumption. 
Animal products, especially, containing 
large amounts of fats.

Kennedy	:	 �----
Joseph	 :	� No, I don’t. You need the protein. Just cut 

down on the fat off your meat and drink low 
fat milk.

Kennedy	:	� So, I need to change my cooking habits as 
well as my eating habits.

A)	So, do you think doing exercise is the only way if I 
want to lose weight? 

B)	Are you serious about this? I’m going to starve if I 
follow your advice.

C)	Well, I couldn’t get your point, do you mean I should 
become a vegetarian?

D)	I really don’t know how to cope with such an 
imbalanced diet.

E)	You must be kidding. I can’t live without eating 
animal products.

49-53. sorularda verilen cümleye anlamca en 
yakın cümleyi bulunuz.

49.	 After thick layers of ash covered the two towns, 
they were abandoned, and eventually their names 
and locations were forgotten. 

A)	As soon as the two towns were covered by thick 
layer of ash, their people had no choice but to 
abandon them, and no one knows them.

B)	The thick layers of cinder covered the towns and 
since then, no one has lived there, and finally their 
names have been forgotten. 

C)	People left the two towns after they had been 
covered by heavy layers of ash, which caused the 
names and locations of both towns to disappear.

D)	If layers of cinder hadn’t covered the two towns, 
they wouldn’t certainly be deserted, and perhaps 
their locations and names would be in our minds.

E)	A volcanic eruption destroyed those two towns, 
which led people to leave them and not remember 
their names.

50.	 She regrets not being persistent enough to 
convince her husband not to change his job. 

A)	She is sorry that she insisted her husband stay in 
his former employment.

B)	Her husband changed his career, and now she feels 
sorry about not speaking out against it at all. 

C)	She wishes she had tried harder to persuade her 
husband to keep his old job. 

D)	Despite her perseverance in trying to prevent her 
husband from leaving his employment, he did so 
anyway. 

E)	She is apologetic about attempting to stop her 
husband from finding new work.
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51.	 There are few truly natural places left in the world, 
and most of them are practically inaccessible. 

A)	There’s no way to get to most of the world’s nature 
spots, and so, they remain almost intact. 

B)	 It’s hardly possible to get access to most of the few 
remaining genuinely natural places on this planet. 

C)	It’s true that the number of official nature areas is 
declining, but you can visit them with some effort. 

D)	It isn’t very practical to try to go to natural places 
any more as there are simply too few left. 

E)	Most of the world’s green places that are easily 
accessible have already been badly spoilt. 

52.	 I was hardly upset when she said she didn’t want 
to see me again since this feeling was entirely 
mutual.

A)	As I didn’t want to see her any more, and vice 
versa, I didn’t care too much about her wish not to 
see me again.

B)	 I was glad when she broke off our relationship as I 
was thinking of doing the same but finding it hard to 
tell her. 

C)	It was hard for me when she said she never wanted 
to see me again, in spite of our mutual affection. 

D)	Having once loved her, I found it hard to tell her that 
I no longer wished her to be part of my life. 

E)	Because of the feelings we had once shared, I was 
terribly upset to hear that she no longer wished to 
see me. 

53.	 Dried and salted fish were valuable commodities in 
the past because they were a source of protein that 
could be easily transported and stored. 

A)	Dried and salted fish have always been valuable 
commodities and nutritious sources of protein. 

B)	Dried and salted fish were a source of protein, easy 
to transport and store, that’s why they were valuable 
in the past. 

C)	Dried and salted fish were so valuable that they 
were transported to other markets. 

D)	In the past, although they were source of protein, 
and they could be easily stored, dried and salted 
fish were not common for long voyages. 

E)	Dried and salted fish can be preserved and carried 
over long distances without great loss of quality. 

54-58. sorularda verilen durumda söylenmiş 
olabilecek sözü bulunuz. 

54.	 You see one of your friends from high school. 
She has had her hair dyed green and changed 
her appearance. She thinks she looks extremely 
beautiful. She asks your thoughts about her new 
appearance and style. Since you haven’t seen her 
for a long time and in order not to let her down, you 
say:----

A)	Although I think you should change it as soon as 
possible, I respect your taste.

B)	You can’t be serious about this style, you must be 
kidding.

C)	I’m so disappointed about your new style, I was 
expecting to see my beautiful friend just like the old 
days.

D)	It looks very modern and stylish. You look better 
than before.

E)	Your hair looks great, but I didn’t like the your 
appearance and taste of your clothes.

55.	 You work for a company. You have received a 
message from your boss asking you to come to his 
office at 9 o’clock today. However, you have  
promised your wife that you would prepare 
breakfast for her, too. As today is your wife’s 
birthday, and you think your wife is more important 
than the meeting your boss wanted, you bashfully 
request permission from your boss: ----

A)	 I can’t come to the meeting because I have to see 
an important customer at that time.

B)	 It’s my wife’s birthday, and I had promised to 
prepare breakfast for her, may I please come at 10 
o’clock?

C)	I don’t get why you want to speak to me as soon as 
you wake up.

D)	It doesn’t seem like a good idea to bring my wife for 
breakfast to the company.

E)	 I know work is more important than anything. 
Although it’s my wife’s birthday, I’ll be there right at 
that time.
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56.	 Your husband has promised you to cook you 
dinner for today. However, he looks very tired 
and miserable when he comes home. Although 
you expect him to cook for you, you don’t want to 
pressure him about his promise. You feel sorry for 
him, so you sympathetically say:----

A)	 I feel like eating pizza, let’s just order dinner tonight. 
You can keep your promise for another day.

B)	You are as lazy as always, I’ll cook something. Just 
forget it. 

C)	It’s almost dinner time, wash your hands and keep 
your promise please. I’m starving.

D)	I’ll cook tonight as I do every day, I knew you 
wouldn’t keep your promise anyway. 

E)	 I knew I couldn’t rely on you, so I have already 
prepared something to eat.

57.	 Your twin brother has made a perfect presentation 
for his project work at school. He has made a great 
speech self-confidently, which has really satisfied 
you as well as the teacher. You want to compliment 
him, so you merrily say to him:---- 

A)	 If I hadn’t helped you, you couldn’t have made such 
a wonderful presentation.

B)	 It’s a pity you made such a performance although 
you got prepared so much for it. 

C)	Congratulations, you definitely impressed all of us 
except for the teacher. None of us could do it better.

D)	I’m so happy for you. You couldn’t have made a 
better performance. 

E)	Although you made your presentation recklessly, 
you have impressed the teacher and me.

58.	 You have started sharing your house with a 
flatmate because you had trouble doing housework 
and paying the rent. Even though you always 
warn your flatmate about the chores at home, he 
hasn’t washed his dishes yet. He has a problem of 
keeping the shared areas clean. You’re extremely 
fed up with his attitude, and you are no longer 
willing to put up with his dirtiness. You no longer 
want to live with him, so you frankly say: ----

A)	You are the best flatmate a person can find, but I 
am getting married soon, and I want you to leave 
the house at the end of the month.

B)	 Look! If you keep leaving the shared areas dirty, I 
will want you to pay the bills.

C)	I don’t want to be rude to you, but you should be 
tidier and cleaner.

D)	Hey, I know you are not used to doing cleaning in 
the house, so I will help you a couple of times until 
you get used to doing it yourself.

E)	 It seems like sharing a house together is not a good 
idea. I want you to leave my house at the end of the 
month.
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59-63. sorularda boş bırakılan yere parçada 
anlam bütünlüğünü sağlamak için getirilebilecek 
cümleyi bulunuz.

59.	 Charles Dickens was an English writer and social 
critic. He created some of the world’s best-known 
fictional characters and is regarded by many as 
the greatest novelist of the Victorian era. He was 
raised in London and lived most of his life there. 
---- Among his well-known novels are A Tale of 
Two Cities, A Christmas Carol, Oliver Twist, David 
Copperfield, and Great Expectations. In these and 
the others, he created memorable characters and 
criticised the injustices of his age. 

A)	One of the writers whose books I always read is 
Charles Dickens.

B)	His passion for reading and his keen eye for 
observation prepared him for a career as a writer.

C)	Most of the plays have been translated into about 
thirty languages.

D)	A simplified edition of books is easier to read than 
the original.

E)	 It is a book of quite astonishing authority and power, 
one of the best novels of recent years.

60.	 There is a difference between a discovery and an 
invention. A discovery is recognizing or finding 
something that already exists for the first time.
Invention, on the other hand, is thinking of an idea 
for a new product, machine, etc. and designing or 
making it. For example, a new chemical element 
is a discovery, but a new type of a machine is 
an invention. New inventions make new jobs, 
businesses and industries. ---- Whenever a new 
technique, machine or method is invented, it helps 
man to live a little easier or better . 

A)	Besides, reactions to some of them have been 
varied.

B)	We must make sure that we are aware of the side 
effects of each one.

C)	As a result, they bring wealth to people.

D)	It took him so long that those who worked with the 
inventor carried out the experiments.

E)	They are all intelligent and responsible people.

61.	 Having the ability to overcome or control illness, 
reducing the risk of some diseases, and being 
healthy depend not only on medicines or mind, as 
some people say, but also on good nutrition. ---- 
They are claimed to be a passport to good health 
and a long life.

A)	On the other hand, millions of people are dying of 
starvation. 

B)	The consumption of products such as meat, animal 
fats, and sugar should be avoided, and water 
should be drunk every day.

C)	It has been firmly accepted by the old in the last ten 
years.

D)	Doing sports is one of the ways to be in good health 
along with healthy food.

E)	 It is obvious that it is very expensive to transport 
food from one country to another.

62.	 The annual migration of North America’s monarch 
butterflies is a unique and amazing event. They 
travel long distances to stay warm. They fly up to 
3,000 miles to the same winter roosts, sometimes 
to the exact same trees. However, their lifespan is 
only a few months. ---- Their great grandchildren 
return south the following fall.

A)	Little swallows and their parents learn each other’s 
voices.

B)	All of the bird species migrate south for the winter.

C)	Other butterflies also fly thousands of miles in 
search of warmth.

D)	So, individual monarchs only make the round-trip 
once.

E)	The seasonal movement of animals from one region 
to another is called migration.
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63.	 ---- This makes better body building and 
circulation. It engages the powerhouse of the lower 
abs, obliques, hips, buttocks, and lower back in 
almost every movement. Throughout the workout, 
practitioners try to stay aligned from shoulder to 
shoulder and hip to hip, making sure the neck and 
limbs are used in long, graceful movements. Think 
ballet is combined with acrobatics and a bit of 
calisthenics.

A)	 Joseph Pilates who invented a series of exercises 
to strengthen his body was a sickly youth.

B)	Anyone in a high-level position has got there 
because of their ability to learn and grow.

C)	You can maintain these results with as few as two 
sessions a week. 

D)	So, you’ll be admiring the profile you see in the 
mirror.

E)	Pilates is a unique combination of stretching, 
strengthening, and breathing.

64-69. sorularda verilen İngilizce cümleye 
anlamca en yakın Türkçe cümleyi bulunuz. 

64.	 Bertrand Russel, whose philosophical writings 
made a profound impact on philosophers all over 
the world, died in 1970.

A)	1970 yılında ölen ve bütün dünyadaki felsefeciler 
üzerinde felsefi yazılarıyla derin bir etki bırakan 
Bertrand Russel’dı.

B)	Felsefi fikirleriyle bütün dünyadaki felsefecileri 
derinden etkileyen Bertrand Russel, 1970 yılında 
öldü. 

C)	Bertrand Russel felsefi yazılarıyla bütün dünyadaki 
felsefeciler üzerinde derin bir etki bıraktı ve 1970 
yılında öldü. 

D)	Felsefi yazıları bütün dünyadaki felsefeciler 
üzerinde derin bir etki bırakan Bertrand Russel, 
1970 yılında öldü. 

E)	 1970 yılında ölen felsefi yazıları bütün dünyadaki 
felsefeciler üzerinde derin bir etki bırakan filozof 
Bertrand Russel’dı.

65.	 When air, which consists mainly of nitrogen and 
oxygen, is heated to above 1100o Centigrade, 
oxides of nitrogen, particularly nitric oxide is 
produced.

A)	Esas itibarıyla azot ve oksijenden oluşan hava,  
1100 santigratın üstünde ısıtıldığı zaman, azot 
oksitler, özellikle de nitrik oksit elde edilir.

B)	 1100 santigratın üstünde ısıtılan esas itibarıyla azot 
ve oksijenden oluşan hava, azot oksitler, özellikle 
de nitrik oksit üretir.

C)	Esas itibarıyla azot ve oksijenden oluşan havadan, 
azot oksitler, özellikle de nitrik oksit elde edebilmesi 
için 1100 santigratın üstünde ısıtılması gerekir.

D)	Esas itibarıyla azot oksitler, özellikle de nitrik 
oksitten oluşan hava, 1100 santigratın üstünde 
ısıtıldığı zaman, azot, özellikle de oksijen elde edilir. 

E)	Hava, 1100 santigratın üstünde ısıtıldığı zaman, 
esas itibarıyla azot ve oksijenden oluştuğu için azot 
oksitler, özellikle de nitrik oksit üretir.

66.	 A student of biology should be familiar with 
the basic bacteriological techniques such as 
the preparation of culture media, sterilization, 
culture transferring and maintenance, and aseptic 
technique.

A)	Kültür ortamı hazırlama, sterilizasyon, kültür 
aktarımı, bakımı ve aseptik tekniğini öğrenen bir 
biyoloji öğrencisi temel bakteriyolojik tekniklere 
aşinadır.

B)	Bir biyoloji öğrencisi, temel bakteriyolojik teknikleri 
olan kültür ortamı hazırlama, sterilizasyon, kültür 
aktarımı, bakımı ve aseptik tekniğe aşina olmalıdır.

C)	Kültür ortamı hazırlama, sterilizasyon, kültür 
aktarımı, bakımı ve aseptik tekniklerini bilen bir 
biyoloji öğrencisi temel bakteriyolojik tekniklere 
aşina olmalıdır.

D)	Bir biyoloji öğrencisi, kültür ortamı hazırlama, 
sterilizasyon, kültür aktarımı, bakımı ve temel 
bakteriyolojik tekniği gibi aseptik tekniklere aşina 
olmalıdır.

E)	Bir biyoloji öğrencisi, kültür ortamı hazırlama, 
sterilizasyon, kültür aktarımı ve bakımı ve aseptik 
teknik gibi temel bakteriyolojik tekniklere aşina 
olmalıdır.
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67.	 Making students sit upright in their seats does not 
make them more eager to learn.

A)	Çocukları dik oturtmak, onları öğrenmeye daha 
istekli hale getirmez.

B)	Çocukları sıralarında dik oturtmak, onları 
öğrenmeye daha istekli hale getirmez.

C)	Çocukları sıralarında dik oturtarak onları öğrenmeye 
daha istekli hale getiremeyiz.

D)	Çocukları sıralarında dik oturtunca onlar öğrenmeye 
daha istekli hale gelmez.

E)	Sıralarında dik oturan çocuklar, öğrenmeye daha 
istekli hale gelmez.

68.	 Dreaming appears to be a breathing space for the 
mind, and a period in which it can sort and file new 
experiences in the memory.

A)	Rüya görme, zihin için bir nefes alanı ve hafızadaki 
yeni deneyimleri dosyalayabileceği bir dönem gibi 
görünür.

B)	Rüya görme, zihin için bir nefes alanıdır ve 
hafızadaki yeni deneyimleri sıralayabileceği ve 
dosyalayabileceği bir dönemdir.

C)	Rüya görme, zihin için bir nefes alanı ve onun 
hafızadaki yeni deneyimleri sınıflandırılabileceği ve 
dosyalayabileceği bir dönem gibi görünmektedir.

D)	Rüya görme, hafızadaki yeni deneyimleri 
sıralayabileceği ve dosyalayabileceği bir dönem ve 
zihin için bir nefes alanı gibi görünmektedir.

E)	Rüya görme, zihnin nefes alması için hafızadaki 
yeni deneyimleri sınıflandırılabileceği ve 
dosyalayabileceği bir dönem gibi görünmektedir.

69.	 Poetry is a term applied to the many forms in which 
man has given a rhythmic expression to his most 
imaginative and intense perceptions of his world, 
himself, and the interrelationship of the two.

A)	Şiir, insanın dünyasının, kendisinin ve ikisinin 
birbiriyle olan ilişkisinin en yaratıcı ve yoğun 
algılarına ritmik bir ifade verdiği birçok biçime 
uygulanan bir terimdir.

B)	Birçok biçime uygulanan şiir; insanın dünyasının, 
kendisinin ve ikisinin birbiriyle olan ilişkisinin en 
yaratıcı ve yoğun algılarına ritmik bir ifade verdiği 
bir terimdir.

C)	Şiir; insanın en yaratıcı ve yoğun algılarına ritmik 
bir ifade verdiği, dünyasının, kendisinin ve ikisinin 
birbiriyle olan ilişkisinin çeşitli biçimlerle anlatıldığı 
bir terimdir.

D)	Birçok biçimler için kullanılan şiir; insanın 
dünyasının, kendisinin ve ikisinin birbiriyle olan 
ilişkisinin ritmik bir şekilde en yaratıcı ve yoğun 
algılarını ifade ettiği bir terimdir.

E)	 İnsanın dünyasının, kendisinin ve ikisinin birbiriyle 
olan ilişkisinin en yaratıcı ve yoğun algılarına ritmik 
bir ifade verdiği şiir; birçok biçime uygulanan bir 
terim olarak görülür.
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70-75. sorularda verilen Türkçe cümleye anlamca 
en yakın İngilizce cümleyi bulunuz.

70.	 Borsa giderek kestirilemez olduğundan ve kamu 
harcamaları hükümetin ekonomik politikasına karşı 
güven eksikliği oluşturduğundan, Fransa Maliye 
Bakanı paranın değerinin düşürüldüğünü bildirdi.

A)	 As the stock market became increasingly 
unpredictable, and public spending indicated a lack 
of confidence in the government’s economic policy, 
France finance minister announced a devaluation of 
the currency.

B)	As public spending indicated a lack of confidence in 
the government’s economic policy, and as the stock 
market became increasingly unpredictable, France 
finance minister announced a devaluation of the 
currency.

C)	As France finance minister announced a 
devaluation of the currency, public spending 
indicated a lack of confidence in the government’s 
economic policy, and the stock market became 
increasingly unpredictable.

D)	France finance minister announced a devaluation 
of the currency that public spending indicated a 
lack of confidence in the government’s economic 
policy and the stock market became increasingly 
unpredictable.

E)	As the stock market became increasingly 
unpredictable, France finance minister announced a 
devaluation of the currency, and as public spending 
indicated a lack of confidence in the government’s 
economic policy.

71.	 Özel gereksinimli bireyler, toplum içinde toplumun 
katılımcı bir bireyi olarak yaşamlarını sürdürmek 
için özel bakıma ve desteğe ihtiyaç duyan bir 
kesimdir.

A)	 Individuals with special needs must have special 
care and support in the community to survive as a 
participatory member of the community.

B)	 Individuals with special needs are in the community 
who need special care and support to survive as a 
participatory member of the community.

C)	Individuals with special needs who need special 
care and support to survive as a participatory 
member of the community are in the community.

D)	Those in the community who need special care and 
support to survive as a participatory member of the 
community are individuals with special needs.

E)	 Individuals with special needs are those in the 
community who need special care and support to 
survive as a participatory member of the community.

72.	 Birkaç yıl süren kuraklık nedeniyle ülkenin kırsal 
alanlarında pek çok insan açlık çekerken, hükümet 
bir gıda programı başlatmaya karar verdi.

A)	The government has decided to start a food 
programme because many people in the rural areas 
of the country have been starving for several years 
of drought.

B)	While many people in the rural areas of the country 
have been starving due to several years of drought, 
the government has decided a food programme.

C)	While many people in the rural areas of the 
country have been starving due to several years of 
drought, the government has decided to start a food 
programme.

D)	The government has started a food programme 
while most of the people in the villages have been 
starving due to several years of drought.

E)	The government and many people in the rural 
areas of the country have decided to start a food 
programme while they have been starving due to 
several years of drought.
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73.	 Bilim insanları; hava kirliliğinin, kişinin akciğer 
kanserine yakalanma olasılığını artırabileceğini 
öne sürdüklerinde bu bazı çevrelerce pek fazla 
benimsenmemişti.

A)	When scientists argued that air pollution may not 
increase one’s chances of developing lung cancer, 
this was well received in certain quarters.

B)	When it was argued by scientists that air pollution 
may increase one’s chances of developing lung 
cancer, this was not well received in certain 
quarters.

C)	Scientists argued that air pollution may increase 
one’s chances of developing lung cancer, and this 
was not well received in certain quarters.

D)	When scientists argued that air pollution was not 
well received in certain quarters, this may increase 
one’s chances of developing lung cancer.

E)	When scientists argued that air pollution may 
increase one’s chances of developing lung cancer, 
this was not well received in certain quarters.

74.	 Bilim insanları, Dünya’nın günümüzde son yarım 
yüzyılın herhangi bir döneminden daha hızlı 
döndüğünü kısa süre önce ortaya çıkardı.

A)	Scientists have recently revealed that the Earth is 
now spinning faster than any other period of the last 
half century.

B)	Recently, scientists have discovered that the Earth 
is now spinning too much faster than any other 
period of the last half century.

C)	Scientists have  already discovered that the Earth is 
now spinning faster than any other period of the last 
decade.

D)	Scientists have recently revealed that the Earth is 
now spinning slower than any other period of the 
last half century.

E)	Scientists have  recently revealed that the Earth is 
now spinning faster than any other period of the last 
century.

75.	 Yoklukları kansızlığa yol açan en önemli besin 
maddeleri demir, folik asit ve B12 vitaminidir.

A)	The most important nutrients are iron, folic acid, and 
vitamin B12, which results in anaemia.

B)	The most important nutrients, the deficiencies of 
which result in anaemia, are iron, folic acid, and 
vitamin B12.

C)	Iron, folic acid, and vitamin B12 are the most 
important nutrients, which result in a deficiency of 
anaemia.

D)	Iron, folic acid, and vitamin B12, a deficiency of 
which results in anaemia, are the most important 
nutrients.

E)	An abundance of which results in anaemia are iron, 
folic acid, and vitamin B12, which are the most 
important nutrients.

76-80. sorularda cümleler sırasıyla okunduğunda 
parçanın anlam bütünlüğünü bozan cümleyi 
bulunuz. 

76.	 (I) Torture is the use of physical or mental pain, often 
to obtain information, to punish a person, or to control 
the members of a group. (II) It began as a legal 
procedure and was typically used to gain a confession 
for use as legal proof. (III) Early Greek and Roman law 
permitted the torture of slaves, foreigners, and people 
considered as dishonourable. (IV) Its use declined 
after the fall of the Roman Empire in the late 400s. (V) 
American soldiers systematically used torture as a way 
of questioning them especially in Abu Ghraib Prison in 
Iraq.

A) I	 B) II	 C) III 	 D) IV	 E) V

77.	 (I) Tigers can live in almost any climate, they need only 
shade, water, and food. (II) They have been known 
to kill and occasionally eat people though wild tigers 
prefer to avoid human beings. (III) Tigers are found in 
the rain forests of Thailand; the hot, dry thorn woods 
of India; and the cold, snowy, spruce forests of Siberia. 
(IV) Tigers also live in mangrove swamps, marshes, 
and tall grasslands. (V) In general, tigers like to be in 
shade, they seldom go into the open plains as lions do.

A) I	 B) II	 C) III 	 D) IV	 E) V
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78.	 (I) Trade has contributed greatly to the advance of 
civilization. (II) As merchants travelled from region 
to region, they helped spread civilized ways of life. 
(III) These traders carried the ideas and inventions 
of various cultures over the routes of commerce. (IV) 
Commercials undoubtedly help or, in other words, 
manipulate people on what they need to buy. (V) 
The mixing of civilized cultures through exchange 
of goods was an important development in world 
history.

A) I	 B) II	 C) III	 D) IV	 E) V

79.	 (I) Ancient Rome is the name for a civilization which 
began as a small farming community in the 10th 
century BC. (II) It grew to become the largest empire 
in the ancient world. (III) The Roman Empire has had 
such a big influence that Roman ideas about laws, 
government, art, literature, and language are still 
important to European culture today. (IV) The Roman 
Empire was so big that there were problems ruling 
a territory which stretched from Britain to the Middle 
East. (V) In 293 AD, Diocletian split the empire into two 
parts. 

A) I	 B) II	 C) III	 D) IV	 E) V

80.	 (I) Twitter is an online social networking site and 
microblogging service that enables its users to send 
and read text-based messages of up to 140 characters, 
known as “tweets”. (II) It is also stated that New York 
has the most Twitter users. (III) Created in March 2006 
by Jack Dorsey and launched in that July, the service 
rapidly gained worldwide popularity. (IV) It had 400,000 
tweets posted per quarter in 2007. (V) In February 
2010, Twitter users were sending 50 million tweets per 
day. 

A) I	  B) II	  C) III	 D) IV	 E) V

TEST BİTTİ.
CEVAPLARINIZI KONTROL EDİNİZ.
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CEVAP ANAHTARI

İNGİLİZCE TESTİ

1. B 2. D 3. B 4. B 5. A 6. C 7. B 8. C 9. D 10. D

11. E 12. E 13. A 14. C 15. A 16. E 17. A 18. E 19. C 20. B

21. A 22. C 23. E 24. B 25. E 26. D 27. A 28. B 29. A 30. D

31. B 32. A 33. C 34. E 35. C 36. E 37. B 38. B 39. A 40. D

41. D 42. C 43. B 44. C 45. D 46. B 47. E 48. C 49. C 50. C

51. B 52. A 53. B 54. D 55. B 56. A 57. D 58. E 59. B 60. C

61. B 62. D 63. E 64. D 65. A 66. E 67. B 68. C 69. A 70. A

71. E 72. C 73. E 74. A 75. B 76. E 77. B 78. D 79. C 80. B


